Unit Test Report
for NPS System

« Test Cases Specification

» Test Summary Report

Project Team

Team7
201411297 O[4I
201411269 ZUX|s
201411280 Al=91
201411278 AM3|Zl
201411304 O|X|4
Date

2015-11-10

Team Information

Team 7

i
>
[m
e
1y

Ver. 1.0



Ver. 1.0

Table of Contents

T INEFOAUCTION ottt bbb e bbb 3
T.T OB OCTIVES oottt e s b8R8 R8RSR 3
T2 REFEIENCES ettt e8RS 3
2 Unit test Case SPECITICATION ...ttt sttt 3
2.1 Test case SPECfiCatiON IAENTIIE ..ottt sss sttt sss st st 3
2.2 TEST IEEIMNS oottt esss st s s 88 e 7
2.3 INPUL SPECITICATIONS oottt es sttt bbb 10
2.4 OULPUL SPECITICALIONS c.ovvvveeeveitr ittt sssss st sttt sttt 10
3 ENVIFONMENTAI NEEAS .ottt es st ettt 10
4 UNIt @St SUMMATY FEPOI oottt sttt st sssss s st sttt st bbb s bbbt ssst e 11
47 Test sUMMArY rEPOIt IAENTITION ... ettt se sttt ess st 11
A2 EVAIUGTION oottt et s s e 12

[HAE Q3] Team 7 2



[

El
=

Ver. 1.0

Introduction

1.1 Objectives
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Unit test case specification
2.1  Test case specification identifier

<Table 1 : Test Design Identification>

Identifier Feature(Process DFD) | Valid / Invalid value
NPS_0_000_000 2.1.1.1 Calculator | OD(currentinput) : {1}
Selector CSD : {0}
CKD : {0}
NPS_0_000_001 2.1.1.1 Calculator | OD(currentinput) : {3}
Selector CSD : {0}
CKD : {0}
NPS_0_000_002 2.1.1.1 Calculator | OD(currentinput) : {4}
Selector CSD : {0}
CKD : {0}
NPS_0_000_003 2.1.1.1 Calculator | OD(currentinput) : {5}
Selector CSD : {0}
CKD : {0}
NPS_0_000_004 2.1.1.1 Calculator | CSD : {1}
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Selector

CKD : {0}

NPS_0_000_005

2.1.1.1

Selector

Calculator

CSD : {0}
CKD : {1}

NPS_0_001_000

2.1.1.2 Print Cal

CECD(ink, paper,
{3000,100,{201411278,201411304},2}
OD(userlD,

{201411278,test.txt}

user, userNum)

fileName)

NPS_0_001_001

2.1.1.2 Print Cal

CECD(ink, paper,
{3000,100,{201411278,201411304},2}
OD(userlD,
{201411278,test2.txt}

user, userNum)

fileName)

NPS_0_001_002

2.1.1.2 Print Cal

CECD(ink, paper,
{0,100,{201411278,201411304},2}
OD(userlD,

{201411278,test.txt}

user, userNum)

fileName)

NPS_0_001_003

2.1.1.2 Print Cal

CECD(ink, paper,
{3000, 0,{201411278,201411304},2}
OD(userlD,

{201411278, test.txt}

user, userNum)

fileName)

NPS_0_001_004

2.1.1.2 Print Cal

CECD(ink, paper,
{3000,100,{201411278,201411304},2}
OD(userlD,

{201411269,test.txt}

user, userNum)

fileName)

NPS_0_001_005

2.1.1.2 Print Cal

CECD(ink, paper,
{3000,100,{201411278,201411304},2}
OD(userlD,

{201411278,test.txt}

waitUser : 5

user, userNum)

fileName)

NPS_0_002_000

2.1.1.3 Register Cal

CECD(user,
{{201411280,201411297,201411304},3,3}
OD(regUserID): {201411269}

userNum, currentStatus) :

NPS_0_002_001

2.1.1.3 Register Cal

CECD(user,
{{201411280,
201411297,201411304},3,1}
OD(regUserID): {201411269}

userNum, currentStatus) :

NPS_0_002_002

2.1.1.3 Register Cal

CECD(user,
{ {201411269, 201411278, 201411280,
201411297, 201411304},5,3}

userNum, currentStatus) :
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OD(regUserID): {201411223}

NPS_0_002_003

2.1.1.3 Register Cal

CECD(user,
{{201411269,
201411297,201411304},3,3}
OD(regUserID): {201411269}

userNum, currentStatus) :

NPS_0_003_000

2.1.1.4 Del Cal

CECD(user,
{{201411269,201411297,201411304},3,3}
OD(delUserID): {201411269}

userNum, currentStatus)

NPS_0_003_001

2.1.1.4 Del Cal

CECD(user,

{{201411269,
201411297,201411304},3,1}
OD(delUserID): {201411269}

userNum, currentStatus) :

NPS_0_003_002

2.1.1.4 Del Cal
At

CECD(user,

{{201411280,
201411297,201411304},3,3}
OD(delUserID): {201411269}

userNum, currentStatus) :

NPS_0_004_000

2.1.1.5 Charge Cal

CECD(ink,paper, currentStatus) :
50, 3}
OD(chargelnk,chargePaper) : {500,00}

{2000,

NPS_0_004_001

2.1.1.5 Charge Cal

CECD(ink,paper,
{2000,50,1}
OD(chargelnk,chargePaper) : {500,00}

currentStatus)

NPS_0_004_002

2.1.1.5 Charge Cal

CECD(ink,paper, currentStatus) : {2000,
50, 3}
OD(chargelnk,chargePaper) : {1000,00}

NPS_0_004_003 2.1.1.5 Charge Cal CECD(ink,paper, currentStatus)
{2000,50,3}
OD(chargelnk,chargePaper) : {00,30}

NPS_0_004_004 2.1.1.5 Charge Cal CECD(ink,paper, currentStatus)
{2000,50,1}
OD(chargelnk,chargePaper) : {00,30}

NPS_0_004_005 2.1.1.5 Charge Cal CECD(ink,paper, currentStatus)
{2000,50,3}

OD(chargelnk,chargePaper) : {00,80}

NPS_0_005_000

2.1.1.6 Stop Cal

CSD : {1}

NPS_0_006_000

2.1.1.7 Check Cal

CKD : {1}

NPS_0_007_000

2.1.2 Print Controller
Mode 7} 3

o|m

CD(mode, checkStatus, checkTime) : {3,
1, A AIZH
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checkStauts 7} 1 O]
checkTIime o
SiXfA|ZtO|E o™

call displayController

NPS_0_007_001 2.1.2 Print Controller CD(mode, checkStatus, checkTime)
Mode ZF 3 O|1 | {3,0, &X{A|Zh
(checkStatus 7 1 ¢l
B =>call wait)

NPS_0_007_002 2.1.2 Print Controller CD(mode, checkStatus, checkTime)
Mode 7 0 OFH | {0,0H#HAIZH
=>call print

NPS_0_007_003 2.1.2 Print Controller CD(mode, checkStatus, checkTime)

Mode 7} 3 O] OfL|11
mode 7t 0 O| OfL|H
=>call

displayController

{4,0, A XHA|Zh

NPS_0_008_000 2.1.3 Wait CD(paper, ink) : (3000, 10)
NPS_0_009_000 2.1.4 Print CD(cdstatus, cdlist, cdpage, cdcontent)
NPS_0_010_000 2.15 Display | CD(mode) : {0}
Controller
NPS_0_010_001 2.15 Display | CD(mode) : {1}
Controller
NPS_0_010_002 2.1.5 Display | CD(mode) : {2}
Controller
NPS_0_010_003 2.1.5 Display | CD(mode) : {4}
Controller
NPS_0_010_004 2.15 Display | CD(mode) : {5}
Controller

NPS_0_011_000

2.1.6 Stop Printing

CD(paper,ink) : {50, 2500}

NPS_0_012_000

2.1.7 Warning Printing

CD(paper,ink,mode,calNum) {50,

2500,2,3}

NPS_0_013_000

2.1.8 Check Printing

CD(checkStatus, checkTime) : {1, XA
Zh

NPS_0_014_000

2.1.9 Charge Printing
Y 2371 0 2Ot

= o

CD(chargelnk, chargePaper) : {300, -1}

NPS_0_014_002

2.1.9 Charge Printing
sHY 07t 0 ECt

CD(chargelnk, chargePaper) : {-1, 50}
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NPS_0_015_000

2.1.10 Print Printing
2500, 50, 0}

CD(mode, ink, paper, stopTime) : {0,

NPS_0_015_001

2.1.10 Print Printing

CD(mode, ink, paper, stopTime) : {0,
2500, 50, HXA[ZH

Test items
<Table 2 : Test Case Identification>

Identifier Input Specification Output Specification

NPS_0_000_000 OD(currentlnput) : {1} Call printCal
CSD : {0}
CKD : {0}

NPS_0_000_001 OD(currentinput) : {3} Call deleteCal
CSD : {0}
CKD : {0}

NPS_0_000_002 OD(currentinput) : {4} Call registerCal
CSD : {0}
CKD : {0}

NPS_0_000_003 OD(currentlnput) : {2} Call chargeCal
CSD : {0}
CKD : {0}

NPS_0_000_004 OD(currentinput) : {} Call stopCal
CSD : {1}
CKD : {0}

NPS_0_000_005 OD(currentinput) : {} Call checkCal
CSD : {0}
CKD : {1}

NPS_0_001_000 CECD(ink, paper, user, userNum) CDlist.txt
{3000,100,{201411278,201411304},2} CDcontent.txt
OD(userlD, fileName) CDpage.txt
{201411278,test.txt}

NPS_0_001_001 CECD(ink, paper, user, userNum) CDlist.txt
{3000,100,{201411278,201411304},2} CDcontent.txt
OD(userlD, fileName) CDpage.txt
{201411278, test2.txt} YCI0IE &IX| BZ

NPS_0_001_002

CECD(ink, paper, user, userNum)

CDlist.txt

=
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{0,100,{201411278,201411304},2} CDcontent.txt
OD(userlD, fileName) CDpage.txt
{201411278 test.txt} BHOIE EX| ¥&

NPS_0_001_003 CECD(ink, paper, user, userNum) CDlist.txt
{3000, 0,{201411278,201411304},2} CDcontent.txt
OD(userlID, fileName) CDpage.txt
{201411278 test.txt} RIHOIE X ¥&

NPS_0_001_004 CECD(ink, paper, user, userNum) CDlist.txt
{3000,100,{201411278,201411304},2} CDcontent.txt
OD(userlID, fileName) CDpage.txt
{201411269 test.txt} HOIE EX ¥&

NPS_0_001_005 CECD(ink, paper, user, userNum) CDlist.txt
{3000,100,{201411278,201411304},2} CDcontent.txt
OD(userlD, fileName) CDpage.txt
{201411278 test.txt} YHoIE EX| ¥&
waitUser : 5

NPS_0_002_000 CECD(user, userNum, currentStatus) : | CDuser.txt
{{201411280,201411297,201411304},3,3}

OD(regUserID): {201411269}

NPS_0_002_001 CECD(user, userNum, currentStatus) : | CDuser.txt
{{201411280, ZHOIE EX ¥&
201411297,201411304},3,1}

OD(regUserID): {201411269}

NPS_0_002_002 CECD(user, userNum ,currentStatus) : | CDuser.txt
{ {201411269, 201411278, 201411280, | YOHIO|E &|X| %S
201411297, 201411304},5,3}

OD(regUserID): {201411223}

NPS_0_002_003 CECD(user, userNum,currentStatus) CDuser.txt
{{201411269, YHOIE EX ¥&
201411297,201411304},3,3}

OD(regUserID): {201411269}

NPS_0_003_000 CECD(user, userNum, currentStatus) : | CDuser.txt
{{201411269,201411297,201411304},3,3}

OD(delUserID): {201411269}

NPS_0_003_001 CECD(user, userNum, currentStatus) : | CDuser.txt
{{201411269, ZHOIE EX ¥s

201411297,201411304},3,1}
OD(delUserID): {201411269}
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NPS_0_003_002 CECD(user, userNum, currentStatus) : | CDuser.txt
{{201411280, YHOIE EX ¥&
201411297,201411304},3,1}

OD(delUserID): {201411269}

NPS_0_004_000 CECD(ink,paper, currentStatus) : {2000, | CDcharge.txt
50, 3} CDstatus.txt
OD(chargelnk,chargePaper) : {500,00}

NPS_0_004_001 CECD(ink,paper, currentStatus) CDcharge.txt
{2000,50,1} CDstatus.txt
OD(chargelnk,chargePaper) : {500,00} YHOIE EIX| &

NPS_0_004_002 CECD(ink,paper, currentStatus) : {2000, | CDcharge.txt
50, 3} CDstatus.txt
OD(chargelnk,chargePaper) : {1000,00} | ¥HIO|E E|X| %S

NPS_0_004_003 CECD(ink,paper, currentStatus) CDcharge.txt
{2000,50,3} CDstatus.txt
OD(chargelnk,chargePaper) : {00,30} YOOIE E|X| &E

NPS_0_004_004 CECD(ink,paper, currentStatus) CDcharge.txt
{2000,50,1} CDstatus.txt
OD(chargelnk,chargePaper) : {00,30} YOOIE =X EZ

NPS_0_004_005 CECD(ink,paper, currentStatus) CDcharge.txt
{2000,50,3} CDstatus.txt
OD(chargelnk,chargePaper) : {00,80} YOOIE E|X| &E

NPS_0_005_000 CSD : {1} CDStatus.txt

NPS_0_006_000 CKD : {1} CDStatus.txt

NPS_0_007_000

CD(mode, checkStatus, checkTime) : {3,
1, S AIZh

Call displayController

NPS_0_007_001 CD(mode, checkStatus, checkTime) Call wait
{3.0, &XAIZh

NPS_0_007_002 CD(mode, checkStatus, checkTime) Call print
{0,0, 24X Al Zh

NPS_0_007_003 CD(mode, checkStatus, checkTime) Call displayController

4,0, M A2

NPS_0_008_000

CD(paper, ink) : (3000, 10)

Current paper : 3000
Current ink : 10

NPS_0_009_000

CD(cdstatus, cdlist, cdpage, cdcontent)

CDstatus.txt
CDlist.txt
CDpage.txt
CDcontent.txt
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NPS_0_010_000

CD(mode) : {0}

Call printPrinting

NPS_0_010_001

CD(mode) : {1}

Call chargePrinting

NPS_0_010_002

CD(mode) : {2}

Call warningPrinting

NPS_0_010_003

CD(mode) : {4}

Call checkPrinting

NPS_0_010_004

CD(mode) : {5}

Call stopPrinting

NPS_0_011_000

CD(paper,ink) : {50, 2500}

Current paper : 50
Current ink : 2500

{1,20151111025300}

NPS_0_012_000 CD(paper,ink,mode,calNum) : {50, | Current paper : 50
2500,2,3} Current ink : 2500
EXCESS ERROR -
PRINT LIST
NPS_0_013_000 CD(checkStatus, checkTime) user : SEE ALEXL

NPS_0_014_000

CD(chargelnk, chargePaper) : {300, -1}

Current paper : 300
Current ink : -1

NPS_0_014_001

CD(chargelnk, chargePaper) : {-1, 50}

Current paper : -1
Current ink : 50

NPS_0_015_000 CD(mode, ink, paper, stopTime) : {0, | Paper : 2500
2500, 50, 0} Ink : 50
currentPage , page
NPS_0_015_001 CD(mode, ink, paper, stopTime) : {0, | Paper : 2500
2500, 50, & A|Zh Ink : 50
FILE PRINTING
STOPPED

2.3 Input specifications

2.4 Output specifications

Environmental needs

HIEYI Z2IH A|AE(NPS : Network Printer System)2| Unit TestS 2ot SHdH Q FAts

= Ch=a 2o

(1) Hardware & Platform

GCC compiler/linker

(2) CTIP(Continuous Testing & Integrated Platform) Environment

AE Q]
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Unit test summary report

4.1

[m

Test summary report identifier
Test case Identifier Result
NPS_0_000_000 Passed
NPS_0_000_001 Passed
NPS_0_000_002 Passed
NPS_0_000_003 Passed
NPS_0_000_004 Passed
NPS_0_000_005 Passed
NPS_0_001_000 Passed
NPS_0_001_001 Passed
NPS_0_001_002 Passed
NPS_0_001_003 Passed
NPS_0_001_004 Passed
NPS_0_001_005 Passed
NPS_0_001_006 Passed
NPS_0_002_000 Passed
NPS_0_002_001 Passed
NPS_0_002_002 Passed
NPS_0_002_003 Passed
NPS_0_003_000 Passed
NPS_0_003_001 Passed
NPS_0_003_002 Passed
NPS_0_004_000 Passed
NPS_0_004_001 Passed
NPS_0_004_002 Passed
NPS_0_004_003 Passed
NPS_0_004_004 Passed
NPS_0_004_005 Passed
NPS_0_005_000 Passed
NPS_0_006_000 Passed
NPS_0_007_001 Passed
NPS_0_007_002 Passed
NPS_0_007_003 Passed
=] Team 7
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NPS_0_008_000 Passed
NPS_0_009_000 Passed
NPS_0_010_000 Passed
NPS_0_010_001 Passed
NPS_0_010_002 Passed
NPS_0_010_003 Passed
NPS_0_010_004 Passed
NPS_0_011_000 Passed
NPS_0_012_000 Passed
NPS_0_013_000 Passed
NPS_0_014_000 Passed
NPS_0_014_001 Passed
NPS_0_015_000 Passed
NPS_0_015_001 Passed

Evaluation

Total test case : 457K

Passed : 457K

Failed : 074
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